Latest Sample Placement Paper Of IBM For Year-2009-10  ( Reasoning) 

Directions (Q. 1-8): Read the following information carefully and answer the given questions: Following are the criteria for appointing a Personnel Manager for a company. The candidate must...

A) not be more than 35 year as on 1.6.2000.

B) be a postgraduate in personnel management.

C) have work experience as personnel officer/manager of at least five years.

D) have good command over English. In the case of a candidate-

(i) who satisfies all the criteria expect at (A) above but has work experience as personnel manager for at least 10 years, his/her case may be referred to Director (Personnel) for consideration.

(ii) who satisfies all the other criteria except at (C) above but has obtained Ph.D. degree in Personnel Management, his/her case may be referred to Managing Director for consideration.

You are given the following cases on 1.6.2000. Depending upon the information provided in each case in each of the questions given below and based on the criteria mentioned above, recommend your decision. You are not to assume anything. Mark your answer as per the following:

Mark answer (1): if the candidate is to be selected.

Mark answer (2): if the candidate is not to be selected.

Mark answer (3): if the case to be referred to Director (Personnel).

Mark answer (4): if the case is to be referred to Managing Director.

Mark answer (5): if complete information is not provided.

1) Kamini Gadgil is a post-graduate in Personnel Management and was born on 15th August 1967. She has been working in a company for the last 10 years as personnel Officer.

2.) Aditi Sahay is a doctorate (Ph. D.) in Personnel Management. She has been working in a company as personnel officer for the last two years. She has good command over English and was born on 2nd November, 1964.

3.) Vijay Kulkarni is a graduate in Personnel Management. He was 32 years old as on 1st December 1999. He has good command over English and has been working in a company as Personnel Manager for the last 12 years.

4.) Pradeep Sarkar is post-graduate in Personnel Management and has been working in a company as a Personnel Manager for the last 15 years. He has good command over English and his date of birth is 13th April, 1964.

5.) Praveen Chopra is post-graduate in Personnel Management and has been working in a company as Personnel Officer for the last 7 years. He has good command over English and his date of birth is 20th March, 1967.

6.) Priya Karkhanis was born on 25th January, 1968. She has been working in a company as Personnel Manager for the last three years. She has good command over English. She has done Ph. D. in Personnel Management.

7.) Nirmala Pandey has passed post-graduation examination in Personnel Management. She has good command over English and she has been working in a company as Personnel Officer for the last five years. She was born on 17th May, 1969.

8.) Anees Ahmad is Post-graduate in Personnel Management. He has been working a Personnel Officer for the last seven years. He has good command over English.

Directions (Q. 9-14):In each question below is given a statement followed by two courses of action I and II. A course of action is a step or administrative decision to be taken for improvement, follow-up or further action in regard to the problem, policy, etc. on the basis of the information given in the statement. You have to assume everything in the statement to be true, then decide which of the given suggested courses of action (5) logically follows for pursuing.

Give answer (1): if only I follows.

Give answer (2): if only II follows.

Give answer (3): if either I or II follows.

Give answer (4): if neither I nor II follows.

Give answer (5): if both I and II follow.

9.) Statement: Severe drought is reported to have set in several parts of the country.

Courses of action: I. Govt should immediately make arrangement for providing financial assistance to those affected.

II. Food, water and fodder should immediately be sent to all these areas to save the people and cattle.

10.) Statement: A larger number of lower-ranked politicians are murdered by antisocial elements in city A.

Courses of action: I. All those in the city with criminal records should immediately be arrested.

II. The city police should keep a close vigil on the movements of anti-social elements so as to prevent future attacks.

11.) Statement: It is reported that though Vitamin E present in fresh fruits and fresh vegetables is beneficial for human body, capsuled Vitamin E does not have same effect on human body. 

Courses of action: I. The sale of capsuled Vitamin E should be banned.

II. People should be encouraged to take fresh fruits and fresh vegetables to meet the body requirement of Vitamin E.

12.)Statement: India has been continuously experiencing military threats from its neighboring countries. 

Courses of action: I. India should engage in an all-over war to stop the nagging threats.

II. India should get the neighbors into a serious dialogue to reduce the tension at its borders.

13.) Statement: India has now been recognized by the Western world as a vast resource of knowledge and the latter is eager to use the same. 

Courses of action: I. India should exploit this opportunity to hasten its economic growth.

II. India should bargain effectively with the Western world and become a super power in South Asia.

14.)Statement: It is estimated that about twenty lakh people will visit the city during the ensuing festival. 

Courses of action:  I. The civic authority should make adequate arrangements to tackle the situation.

II. All the hospitals in the city should be put on high alert in case of any eventuality.

15.)In a certain code language watch is called book, book is called pen, pen is called air, air is called fire, fire is called water, water is called yellow and yellow is called green. Then what is the colour of fire in that language? 

1) Yellow

2) Water

3) Green

4) Air

5) None of these

Directions (Q. 16-22): In the following questions an expression has been given for which you have to give a one-word substitute as your answer from the given alternatives. If none of the alternatives are correct your answer will be 5), ie None of these.

16.)A tale in literature not having true incidents

1) Fable

2) Allegory

3) Novel

4) Fantasy

5) None of these

17.)Liable to commit mistake or error

1) Superficial

2) Fallible

3) Buffoon

4) Humane

5) None of these

18.)Wandering in search of adventure

1) Gypsy

2) Gyrate

3) Expedite

4) Errant

5) None of these

19.)Incapable of being satisfied

1) Greedy

2) Nomadic

3) Insatiable

4) Devilish

5) None of these

20.)Not having made a will

1) Generous

2) Intestate

3) Munificent

4) Voluntary

5) None of these

21.)Rakhi starts from point Q and moves in southward direction for 25 metres; then she turns left and moves 30 metres; then she turns right and moves 15 metres to reach point P. What is the distance and direction of P from Q?

1) 50 metres South-West

2) 50 metres South-East

3) 45 metres South-East

4) 40 metres South

5) None of these

22.)Two brothers Kanhaiya and Kishore are in a habit of passing comments on their friends, which they somehow also use as passcode for e-mail. Kanhaiya's comment is 'Don't live always in a fool's paradise' and his passcode is 'fool's live in paradise a don't always'. If Kishore's comment is 'Listen time and tide waits for none', then what will be his passcode by the same rule?

1) for time tide none waits listen and

2) for time none tide waits listen and

3) for time tide waits none listen and

4) for time tide none listen waits and

5) None of these

23.)If 'grey' means 'yellow'; 'yellow' means 'white'; 'white' means 'blue'; 'blue' means 'red'; 'red' means 'black’; and 'black' 'violet’; then what is the colour of clear sky?

1) red

2) white

3) violet

4) black

5) yellow

24.)Among M, N, D, P and W, D is taller than M and W. P is taller than D and N. Who among them is shortest?

1) M

2) W

3) D

4) Data inadequate

5) None of these

25.)Four of the following five are alike in a certain way and so form a group. Which is the one that does not belong to that group?

1) Wheat

2) Paddy

3) Jowar

4) Corn

5) Sesame

ANSWERS 1.(5)   2.(2)   3.(2)    4.(3)    5.(1)    6.(4)    7.(1)    8. (5)    9.(2)    10.(2)    11. (2)    12. (2)    13.(5)    14. (1)    15.(3)    16. (1)   17.(2)   18.(4)   19.(3)   20.(2)   21.(2)    22. (1)    23.(1)   24. (4)   25.(5)
IBM Placement Paper December 2009 (Madurai)

Data Matrix Questions (no negative marking) : 15 questions in 12 minutes

Number Series (1/4th negative) : 20 questions in 4 minutes

Arithmetic Questions (1/4 negative): 12 questions 15 minutes

I have not remembered the exact question but i can give you the sample type that will certainly help you.

DATA MATRIX

Col 1 Col 2 Col3 Col4

Row 1 @ % $ #

Row 2 % + # &

Row 3 @ & % #

Row 4 * + $ &

Interchange Row3 with col3 , Row1 with Row4 and reverse the diagonal elements from top left to bottom right:

Quest; which is the 4th element of row2;

Quest; which is the second diagonal element from top;

NOTE: change in the matrix is applied only for the particular questions only , it is not reflected in to another question.

SERIES: Series questions are very very simple. You must manage your time in such a way that you can go across all the questions in 4 minutes.

1: 11,22,23,11,24,25, ?

2: 1,4,9.64, ?

3: 2,3,5,7, ? (prime numbers)

MATHEMATICS:

After the Written Test , There is a GD round in which they mainly concentrate on your communication skills. GD topic on"MONEY MAKES PEOPLE IRRESPONSIBLE".

IBM Paper At Mysore

1.WRITTEN TEST: 

This is the new pattern of IBM. this new pattern has been implemented. it contains 3 sections. SECTION 1, some information is given in the form of matrices, with headings for rows as row1,row2 …. Etc.For columns with headings as column1,column 2…. Etc.those matrices r as follows.

Column1 column2 column3 column4

Row1 @ * 2 Z

Row2 S K ? $

Row3 I P Z +

Row4 # 8 F Q

Questions r as follows ( not same questions but same type) 

1.if column1 , Column 4 r interchanged and row3 , row4 r interchanged and diagonal elements from top left to bottom right are written in reverse order then what is the element in row1 and column 1?

2.if Z’s in odd numbered rows r replced with 7’s and S’s in odd numbered columns r replaced with 5’s then which column elements sum e quals to 9?

3.After giving similar type of conditions , what is the element left to H?  In this section they gave around 4 matrices of this type and gave some questions for each matrix.

Total No. of Questions r 15. these r multiple choice questions.5 answers were given for each question. No negative marks for this section. Time Limit is 13 minutes.

SECTION-2 

All questions in this section r from number series. Total number of questions r 20.time limit is 4 minutes.these r also multiple choice questions( 5 options).Negative marking(1/4) is there for this section. 

2. NUMBER SERIES (20 qs -4 mins-20 marks- negative 1/4)

Simple but v shud b very quick....time is very very very imp 4this section frnds dont get confused really very simple section and 1more thing is the invigilaor signals time 4 every 30 secs dont feel tensewth tht just go wth ur work..

EX: 17,18,19,34,35,19,20,___

Ans....21

EX: 22,21,34,33,45,____

Ans......44

EX: 40,41,41,42,42,42,44,44,____

Ans.....44

Here usually two number series will be mixed it very easy but should identify it

SECTION-3 :

Negative marking(1/4) is there for this section. Analytical type Questions . this secton is little bit tough.u must have practice to do this section. questions 12.time 15 minutes. Negative marking(1/4) is there for this section.

1 If a company produces 15 different model of tv sets, 2 inchs screen and 4 different model of 4 inch screen size then how many model should vendor has for all the model.

2 If a team consists 20 members in which 20% are mathematician then how many member should they hire sothat the ratio would become 10/11.

3 The rate of color toner increases $33 to $35 and rate of black&white toner increases $28 to $29 if company spend $1540 in which 3/5 is color toner how much is total expenditure.

4 A computer shop consists 3 brand’s alptop .Laptop of brand A is sold 3/16, B is sold 1/16 and c is sold ? then what fraction is sold by the shop in all. 

Ans 1/16

5 Printer A prints 8192 character per min and printer B prints 13862 character per min four character are equal to one word. Printer A starts at 7:15 am while Printer B starts at 7:29 am then at what time both will have same no of words printed   6 In a library there are 5 cluster and each is having 44 books(module). In first weak 75 books are used, in second 95, in third 95 and in fourth 160 books are used.then tell how much fraction of books are used  7 We have 171 kg rice custing 7 rs/kg.we have rice at 11 rs/kg and 2 rs/kg .then after mixing 11 rs/kg and 2 rs/kg rice. What is quantity of 11 rs/kg rice .. 

Ans 76.00 

8 rectangular room has width half of its length. When 6 is decreased from both length and width then its area is differed by 108 so find the width.

Ans: l =8, W=4 

9 rectangular room has width twice of its length. When 6 is decreased from both length and width then its area is differed by 108 so  find the width.

L=4 W=8 here questions will be almost simillar to above but data will be changed.

Technical
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1. In 1978, a kg of paper was sold at Rs25/-. If the paper rate increases at 1.5% more than the inflation rate which is 6.5% a year, then what will be the cost of a kg of paper after 2 years?

(a) 29.12

(b) 29.72

(c) 30.12

(d) 32.65

(e) none of these

2. In A,B,C are having some marbles with each of them.

A has given B and C the same number of marbles each of them already have.

Then, B gave C and A the same number of marbles they already have.

Then C gave A and B the same number of marbles they already have.

At the end A,B,and C have equal number of marbles.

(i) If x,y,z are the marbles initially with A,B,C respectively.

Then the number of marbles B have at the end

(a) 2(x-y-z)

(b) 4(x-y-z)

(c) 2(3y-x-z)

(d) x + y-z

Ans. (c)

(ii) If the total number of marbles are 72, then the number of marbles with A at the starting

(a) 20

(b) 30

(c) 32

(d) 39

Ans. (d)

3. If a car starts from A towards B with some velocity. Due to some problem in the engine after traveling 30km, the car goes with 4/5 th of its actual velocity

The car reaches B 45 min later to the actual time. If the car engine fails after traveling 45km, the car reaches the destination B 36min late to the actual time What is the initial velocity of car and what is the distance between A and B in km

Ans. 20 & 130.

4. A person has Rs 100/- in his pocket, he can as 25 pencils or 15 books. He kept 15% of the money for traveling expenses and purchased 5 pencils. So how many books he can purchase with the remaining money.

5. Ten questions on analogies.

eg: chief : tribe :: governer : state

epaulette : shoulder :: tiara : head

guttural : throat :: gastric : stomach

inept : clever :: languid : active

knife : butcher ::

hammer : carpenter ::

6. The values of shares (in Rs).of A, B and C from January to June are as follows.

Month A B C

January 30 60 80

February 35 65 85

March 45 75 65

April 40 75 82

May 55 75 85

June 50 75 80

i) During this period which share has undergone maximium fluctuation?

ii) In which month it is possible to buy B and C selling A?

iii) In which month the share values are very low?

iv) By purchasing one share of A and 4 each of B and C in the beginning of the period,

when should these be sold to get maximum profit?

7. In a computer institute 9 languages can be taught. The module is of 6 months duration and of the six languages only one can be taught each month . In addition to that BASIC is always taught and should be in first month itself

WORD PERFECT is to be taught in the preceding week of WORD STAR. FORTRAN can not be taught until COBOL is taught prior to that BINO, FIFO can never be taught in single module languages are BASIC, WORD STAR, WORD PERFECT, FORTRAN, COBAL, BINO, FIFO, LOTUS, C

i) If word star is in 3rd month , what could be in 6th month.

ii) If COBAL is in the 2nd month and BINO in 6th month. FORTRAN will be taught in which month.

8. In a class, except 18 all are above 50 years. 15 are below 50 years of age. How many people are there

(a) 30

(b) 33

(c) 36

(d) none of these.

Ans. (d)

9. A square plate of some size is cut at four corners. Equal squares of the same size are cut and is formed as open box.

If this open box carries 128 ml of oil. What is the size of the side of the plate?

(a) 17

(b) 14

(c) 13

(d) None of these

10. In a square, all the mid points are joined. The inner square is shaded.

If the area of the square is A, what is the area of the shaded area?

11. Two questions on basic angles i.e given a circle, a few chords or diameter is drawn etc.

12. If the following statements are given

@(a,b)= (a+b)/2

/(a,b)= a/b

*(a,b)= ab

If a=1, b=2 then find

i) /(a,(@(a,b),*(a,b)))

ii) */(a,@(*(a,b)))

13. If the following statements are given

(x#y) = x + y- xy

(x*y) = (x + y)/2

i) Find the values of x, y will satisfy this equation (x#y)#(x*y) < (x#y)

ii) Find the values of x, y will satisfy this equation (a*b)#(b*c)< (a#b)*(b*c)

14. Export PS1 results in(PS1 pwd)

a) primary prompt being your current directory

b) primary prompt and secondary prompts being the current directory

c) primary prompt prompt being your home directory

d) primary prompt and secondary prompts being the home directory

e) None of the above.

15. If you type in the command nohup sort employees > list 2 > error out & and log off ,the next time you log in, the output will be

a) in a file called list and the error will de typed in a file error out

b) there will be no file called list or error out

c) error will be logged in a file called list and o/p will be in error out

d) you will not be allowed to log in

e) none of the above

16. In UNIX a files i-node ......?

Ans. Is a data structure that defines all specifications of a file like the file size,

number of lines to a file, permissions etc.

17. The UNIX shell ....

a) does not come with the rest of the system

b) forms the interface between the user and the kernal

c) does not give any scope for programming

d) deos not allow calling one program from with in another

e) all of the above

Ans. (b)

18. enum number { a= -1, b= 4,c,d,e}

What is the value of e ?

(a) 7

(b) 4

(c) 5

(d) 15

(e) 3

19. The very first process created by the kernal that runs till the kernal process is halts is

a) init

b) getty

c) both (a) and (b)

d) none of these

Ans. (a)

20. Output of the following program is

main()

{int i=0;

for(i=0;i<20;i++)

{switch(i)

case 0:i+=5;

case 1:i+=2;

case 5:i+=5;

default i+=4;

break;}

printf("%d,",i);

}

}

a) 0,5,9,13,17

b) 5,9,13,17

c) 12,17,22

d) 16,21

e) Syntax error

Ans. (d

21. What is the output in the following program

main()

{char c=-64;

int i=-32

unsigned int u =-16;

if(c>i)

{printf("pass1,");

if(c 

printf("pass2");

else

printf("Fail2");

}

else

printf("Fail1);

if(i 

printf("pass2");

else

printf("Fail2")

}

a) Pass1,Pass2

b) Pass1,Fail2

c) Fail1,Pass2

d) Fail1,Fail2

e) None of these

Ans. (c)

22. In the process table entry for the kernel process, the process id value is

(a) 0

(b) 1

(c) 2

(d) 255

(e) it does not have a process table entry

Ans. (a)

23. Which of the following API is used to hide a window

a) ShowWindow

b) EnableWindow

c) MoveWindow

d) SetWindowPlacement

e) None of the above

Ans. (a)

24. What will the following program do?

void main()

{

int i;

char a[]="String";

char *p="New Sring";

char *Temp;

Temp=a;

a=malloc(strlen(p) + 1);

strcpy(a,p); //Line number:9//

p = malloc(strlen(Temp) + 1);

strcpy(p,Temp);

printf("(%s, %s)",a,p);

free(p);

free(a);

} //Line number 15//

a) Swap contents of p & a and print:(New string, string)

b) Generate compilation error in line number 8

c) Generate compilation error in line number 5

d) Generate compilation error in line number 7

e) Generate compilation error in line number 1

Ans. (b)

